)

Z-WINSTON

= Z FINDUSTRIES

HBAO/S
‘N SERIES

Parts Identification Manual

HBA5N1 SHOWN

Pagelof 11

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299

www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com

4272Y 404rev00_11-10-03_partsiD_HBAO-5N.doc



WINSTON CVAP MODEL HBAO/5N SERIES

TABLE OF CONTENTS

Exploded view —Bottom ASSEMDIY ......o.oieiiiii i 3

Exploded view — Cabinet Assembly ..o 4

Exploded view —Drawer ASSembBly..... ..o 5
Exploded view — Cabinet & Drawer Assembly..........c.oooiiiiiiiiii s 6
Exploded view — Escutcheon / Control Assembly..........oooooviiiiiiiiiiiiine 7
Exploded view —Fan ASsembly...... ... 8
Exploded view — Probe ASsembly...... ... 9
Exploded view — Tank Assembly........c.oooiiii 10
Electrical SChematiC......... ..o 11

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299
www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com
Page2of 11



WINSTON CVAP MODEL HBAO/5N SERIES
BOTTOM ASSEMBLY

DESCRIPTION

BUMPER FEET (4)

HBAO/5N BOTTOM ASSEMBLY

PART NQ.
1 |REF ONLY (945WO03A) [BOTTOM

4 |PS2670—-4

4 |REF ONLY (098M510) INUT INSERT 1/4-20

1
2
3

SYM.|QTY

Page3of 11

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299
www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com



WINSTON CVAP MODEL HBAO/5N SERIES

CABINET ASSEMBLY

HBAG/5N_CABINET ASSEMBLY

SYM|QTY|  PART NO DESCRIPTION

1| 1 [REF_ONLY (947V17) CAVITY BACK INT WELD

2 | 1 |REF ONLY (1153U17)  [CAVITY WELD

3| 1 [PS2697 AR HEATER KIT

4 | 1 [PS2704 MOTOR FAN ASM KIT

S [ 1 |REF_ONLY (BBEX07) TANK ASM

6 | 1 [PS2723 [THERMOSTAT 325 DEG.

7 | 2 |PS2181-2 ROLLER ASM KIT

8 | 1 |REF ONLY (6071WQ1)  |[COVER FAN

9 | 2 [REF ONLY (951U05) RAIL DRAWER BTM

10| 1 |REF ONLY (4056X04) RETAINER FLUSH T—STAT

11| 1 |REF ONLY (3056W80)  |[ESC/CTRL ASM

12| 2 |PS2319 DRAIN HOSE & CLAMPS KIT
13| 2 [PS1784-3 O—RING 301 IDx 446 Q.D.
14 [ 2 [REF ONLY (204M01) RETAINER O—RING

15| 1 |REF ONLY (5609Y05)  |HEAT SHIELD

16| 1 |REF ONLY(6342Y01) PLATE SEAL BACK

17116 [PS1819-6 INUT_FLANGE LOCK 1/4 — 20
18| 8 |PS1014—-6 INUT NYLON INSERT 10-32 ZINC
19 2 |REF ONLY (1122ND1) | WASHER

20| 2 |PS1233-6 |NUT HEX 10-32

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299
www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com
Page4 of 11



WINSTON CVAP MODEL HBAO/5N SERIES

DRAWER ASSEMBLY

13)iSvD_yImvaa| £6zesd L | Tl

Hd OH N1 <29" X0Z-%/1 M3Mas| 9-zzzisdl z [ oy
IIONVH_N3MVNE cecisd L | 9

a13am ¥amvaal (60nzze) AINO 3] L [ ¢

HOWEIX3 43A0D| {£009€6) XINO I3[ 1 | +

INNOA 13NNVHD|  (EOAZE6) AINO J434[ L [ ¢

XINO 33MWNA_ LI HITI0N T-YZLeSd| 2 | |
NALdI¥0s3a “ON_lavd  [ALOJAAS)
ATgNISSY ¥IMVNO - Ns/ovaH l_

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299
www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com

Page5of 11



WINSTON CVAP MODEL HBAO/5N SERIES
CABINET & DRAWER ASSEMBLY

HBAO/5N — GABINET AND DRAWER ASSEMBLY

SYM[QTY|  PART NOQ. DESCRIPTION

1| 1 |REF ONLY (1127x21) |[BACK EXTERIOR

2 | 1 |REF_ONLY (1960X15) [BOTTOM ASM

3 | T REF_ONLY (4040B01) [BUTTON PLUG

4 [ 1 |REF ONLY (2333W183) IQAB«NEr ASM_(SEE GAB ASM_DWG)
5 [ 1 |REF ONLY (4023UC1) [COVER ACCESS PROBE

6 | 2 [REF ONLY (3454Y07) [COVER DEFLECTOR

7 | 1 |REF ONLY (942W0B)  [COVER TOP EXTERIOR

8 | 1 |REF _ONLY (7231U0%9) |DRAWER (SEE DRAWER ASM DWG)
9 | 1 |REF ONLY (1521R01) [DRIP GUARD

10 [11]PS1271-6 GROMMET SCREW #10

12| 1 |PS2583 WATER LEVEL SENSOR

13] 1 |PS16564 DRAIN CAP ASM

14 1 |REF ONLY (4258Q05) [FAN 2.625 DIA.

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299
www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com
Page6of 11



WINSTON CVAP MODEL HBAO/5N SERIES

ESCUTCHEON / CONTROL ASSEMBLY

MIWOS] (£9%00L%) AINO 43 z [ £

SIS~V NSV 131 609esd | | 9
HOLMS YO£€28d L | S

Z€—01 SdM LN (62386a¥) AINO 43 y | ¢
HOLM vOgesd | | ¢

¥Y3Y NSV ONISNI JBLXE68L) AINO 334 | [ ¢
1410 TNV (SOMZY¥£2Z) KINO 339 | [ L
NOLdINTS3A ON_Lavd | ADIUS]

AIGAESSY TOMINGT /NOIHOLNOSY — NG/OvEH

oy UM #0$2Sd 3SN
‘ ‘ST300N YIMIN
NO d3SN HOLIMS

g
|
|
|

L% v0£ZSd

HLIM 30V1d3Y
‘ST130ON ¥3Q10
NO 03SN HOLIMS

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299
www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com

Page 7 of 11



WINSTON CVAP MODEL HBAO/5N SERIES

FAN ASSEMBLY (HBA5 MODELS ONLY)

NSY MOLON ANV NV4 $0/25d| L | L1
HIONINS dIHSVM|  (1ZMeZov) KINO 43 z | oL

a1am 3uvid]  (LOmMsS019) AINO 43| | | 6

1dVHS ¥3NvLTY|  (ZOMOZOL) KINO 43| | | g

7s—8# L43ISNI NOTAN LNN[  (8SD860%) AINO 43 z | £
2¢—01# L¥3SNI NOTAN LNN|  (2SN860Y) XINO 43 2 | 9
NY4 INNOW (BOMaLL) AING 43 | [ ¢

AOTL HOLOW 961zsd | | ¥

WSY Nv4 13Msvo| (Lomeslg) AINO 43 | | ¢

VId 00y NV4 p4Gzsd| L | Z

02—¥/L WY INN|  (8/M860%) AINO 43| z | 1
NOILdI¥DS3a 2 ALD|WAS

¥042Sd WSV NV4 NGVEH

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299
www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com

Page8of 11



WINSTON CVAP MODEL HBAO/5N SERIES

PROBE ASSEMBLY

AIR PROBE — PS2472

PLATE (1160N01)

NUT

AR PROBE ASM

(REAR OF TANK)

WATER PROBE ASM — PS2440

WATER PROBE
FERRULE

NUT

WATER TANK

WATER PROBE ASM

(FRONT OF TANK)

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299
www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com
Page9of 11



WINSTON CVAP MODEL HBAO/5N SERIES

TANK ASSEMBLY

A1IM MNVL (8onsg6) ANO 434 | | ¢
YILVIH ILV1d (tomzz19) AINO 43 | | ¢
0Z—%/1 Y007 3ONV14 LINN|  (£2X860%) AINO 43 + | ¢
20/2/S ¥3LV — MOOY AOZL Y3ILVIH 90/2Sd| +
20/2/S 340439 — MOO9 AOCL Y3ILvIH B6LZSd | | ¢
¥3IVIH ¥3A0D]  (LOMLZIS) AINO 43 « | o
NOILdINOSIa ON_Lyvd ALO|WAS

NSY XNVL N/dS/0vaH

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299
www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com

Page10of 11



WINSTON CVAP MODEL HBAO/5N SERIES

SCHEMATIC (HBAO MODELS DO NOT HAVE FAN)

|

I

()
OPTIONAL|
WATER FILY

L

B YiBE |

EVAPORATOR
HEATER

HIGH=LIMIT

OPTIONAL
FAN

L

\|_/
\'i
—.
POWER

E
H

[

—

cap
3 2 1
Bi % E‘t

e

T

WTHOUT WATER

LEVEL PROBE

N
1l
]

/

WITH WATER
LEVEL PROBE

-

THERMISTOR
PROBE
THERMISTOR
PROBE

PLUG

—
"4

BLUE
BLUE
RED
RED

A

1
4
2
5

1

WATER SOLENQID

3

EVAP

6
1
4
2
]

VIOLET
BLUE

BLUE
RED
RED

2
ﬁm |
1 OPTIONAL

PROBE

WATER LEVEL

_

1

2
o I
1

SPEAKER

@
©
9 o
b4 x
5 EE 0@
5 z| 51 z| & o =
15 =]
_‘ - <
28 2
Se
Doy
+LY
oy
[=}
g Edng
< Siuw
B g =
£ 4 5
< -
g Ege
© z 3
3
[SINN=S
[ a Ve
o
< z
w
<
-]
<] ©
4 ww
EI‘J [N
=3 w n_le_j
" o3 <3
Uu nE
51 "ﬁ L * o
# [
[
<a
a

Page1lof 11

Winston Industries, LLC - 2345 Carton Dr. - Louisville - Kentucky - 40299
www.cvap.com 1-800-234-5286 502-495-5400 FAX 502-495-5458 www.winstonindustries.com



